AP Statistics Quiz B — Chapter 5 Name

1. The body temperature of students is taken each time a student goes to the nurse’s office.
The five-number summary for the temperatures (in degrees Fahrenheit) of students on a
particular day is: -

Min | Q! | Median | Q3 | Max

96.6° | 97.85° | 98.25° | 98.6° | 101.8°

a. Would you expect the mean temperature of all students who visited the nurse’s
office to be higher or lower than the median? Explain.
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b. After the data were picked up in the afternoon, three moi)e students visited the
nurse’s office with temperatures of 96.7°, 98.4°, and 99.2°. Were any of these

students outliers? Explain. -
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2. The boxplots show the age of people involved in accidents according to their role in the

accident.
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d. Which role had the largest IQR of ages, and what is it?
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e. Which role generally involves the oldest people? Explain.
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3. All students in the p
event and the highest number of shots made w

sical education class completed a basketball free-throw shooting
32. The next day a student who had just

a. mean
b. median \

c. range \

d. IQR \

e. standdrd deviation \

4. The students in a biology class kept a record of the height (in centimeters) of plants for a
class experiment.
a. Sketch a histogram for these data.
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b. Find the mean and standard deviation of the plant heights.
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c. Is it appropriate to use the mean and standard deviation to summarize these data?
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d. Describe the distribution of plant heights.
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